Recitation chapter 7&8
Q1. A block of mass m = 10 kg is connected to unstretched spring  (k=400 N/m) (see Fig. 4). The block is released from rest. If the pulley is massless and frictionless, what is the maximum extension of the spring? 
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A 49 cm 

B 25 cm 

C 33 cm 

D 55 cm 

E 11 cm 

Q2. A 3.00 kg block is dropped from a height of 40 cm onto a spring of spring constant k (see Fig 2). If the maximum distance the spring is compressed = 0.130 m, find k.

A 1840 N/m

B 980 N/m

C 490 N/m

D 1250 N/m

E 2800 N/m
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Q3. A block of mass 0.75 kg is free to move on a horizontal surface where μk = 0.25. The block is placed against a spring with a spring constant k = 83 N/m. The spring is compressed 0.10 m and then the block is released from rest. Find the speed of the block just as it leaves the spring. 

A) 0.79 m/s 

B) 1.5 m/s 

C) 1.2 m/s 

D) 0.87 m/s 

E) zero

Q4. A 2.0 kg object is thrown vertically upward with an initial speed of 30 m/s. After moving a vertical distance of 25 m, its speed is 5.0 m/s. How much work is done by the air resistance on the object during this upward motion? 

A) − 385 J 

B) – 424 J 

C) – 125 J 

D) – 240 J 

E) – 500 J

Q5. A 3.0 kg block starts from rest on a rough inclined plane that makes an angle of 35o with the horizontal as shown in Figure 5. As the block moves 2.0 m down the incline, its speed is 4.0 m/s. Find the value of the coefficient of kinetic friction between the block and the incline. 

A) 0.2 

B) 0.3
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Q6. A 0.500-kg block is pushed against a horizontal spring fixed at one end (the block is NOT attached to the spring), compressing the spring 10.0 cm. The spring has a spring constant of 100 N/m. The block lies on a horizontal floor having a coefficient of kinetic friction μk = 0.200. Find the total distance traveled by the block after being released from rest. 

A) 51.0 cm 

B) 20.0 cm 

C) 10.0 cm 

D) 6.00 cm 

E) 80.0 cm

Q7. A 6.0 kg box starts up a 30 degrees incline with 158 J of

kinetic energy. How far will it slide up the incline if the

coefficient of kinetic friction between box and incline is

0.40 ?

A) 3.2 m

B) 2.2 m

C) 1.2 m

D) 4.2 m

E) 5.2 m

